® x+220

@ 4>3

D 143=14

® x-3=3



0

® x+y

@ a+b=c+d

® 3-1

® 2x = 3x

@ 4+5=11
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@ ax®+bx+c=0



@ 3x<1
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@ 5(x-3)=4x-3 @ 5(x-3)=4x+3

@ 5x-3=4x-3 @ 5x-3>4x-3

® 5(x-3)>4x+3



® 2-(x-3)=5-x @ 3(x-1)=3x-1

@ xXxXx=3x

@D 14 @ 274 ® 370 @ 474 G 570




= % x°l o8 & Al ol 2 4 gl $42°
@® 4x+2=-2(-2x-1) @ 3x+2=3x-1
1
@7x:6x @ 2x+2=0

B x:5=6x:1



8. TS FWAAA AL Fom?

@® 4x-(2x+3)=2x+3 @ 5+4=1
® 6x+3=32x+1) @ 6-2=x-2

B 2x—=3x = —x



9. T %t Bas we AL
® 3x-2=5x @ 2y+1=2
® —vy+2=x-1 @ 3(1-x)=3-3x

® 2(x-2)=3x-5



A x+1<3 O 3x-2=1
® 3-(x-3)=6-x @ 2(x-1)=2x-2
@ xxx=2x

@D 1 7 @ 2 7 ® 3 7| @ 4 74 ® 5 7



D 2x+7T=3+2x-7
® 3x-5+2

B 8x—4>8—4x

@ 3x+8=3(2+x)+2

@ 4x-2=2-4x



@ —-4x+3=-3+4x

D 2x+1

@ 4x-4=4(x-1)

X =—X

B x+2x-3=53x-3



® —4x-2=-2(2x+1)

® 3(2x+1)=2x+1

@ 4x-3=5x-2

@ x-5=2x+5



